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56 |oEmmm || 4 | 2| 3|eeEmasuEscmREEEEDe e 41,908 36,502
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68 |REGER —fi% | 5 1| 4|[feEmhBEERESEEEE #HBhE 3,450 3,400
69 |REGER —fi% | 5 1|  A|rEmBEREIREEMIE #HBhE 1,800 600
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94 |EEMLER % N> AV WL & #HBhE 1,034 1,034
95 |EEMAER —f% {ERTAEIE LY ME 2R & #HBhE 2,075 1,700
96 |EEMEER % {EEmhe LT TEE/HE #HBhE 1,000 1,000
97 | EIRHERER —f% B EE #HBhE 430 0
98 | EIRMERER % ESHEEFNNE B 0 0
99 |EAKMIIER % FI7KET BRI e B T HHBhE B 652 652
100 [EAKAEIIER % RN HARIRRS L EREHEE B 0 0
101 [#PFHETIEER % EEh It X EERRIERR N E B 0 0
102 [BHERIIEER 5% {EETELEE SRR ® A& 3,800 3,800
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110 BUXER | IR SCEFR AR E #HBhE 172 O| 274 EN5N0. 111N
111 BUXER | {EEhA I RIS SR E #HBhE 28,815 29,000
112 BUXER | eI R E R R E BN E #HBhE 327,535 336,698
113 |HEHER —Hi% {ERTHRR A E EE B A BN #BhE 500 500
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115 [fER —Hi% {ER BB AHEEE #HBhE 2,000 0
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122 |mER BE | 1| 1| 1|AT R ER S A SIS e 0 0
123 |RIR BE | 1| 1| 1|ATmRREE R ER S A SRS e 0 0
124 |EgEER w6 | 1| 2|EmaizsEmsLERERIhe e 0 0
125 [grEsm || 7 | 4 1|esgmos-ssEERpRe e 0 0




